Dane aktualne na dzien: 22-07-2025 14:04

Link do produktu: https://www.nobshop.pl/rama-speedybee-mario-5-p-4363.html

MARID 3 OO

Opis produktu

Rama SpeedyBee Mario 5

Specyfikacja:
Rozmiar Mario 5 DC: 227mm,
Waga Mario 5 DC:

129+5¢g (bez drukéw 3D),

170+5g (z drukami 3D i plastikowymi ostonami),
Rozmiar Mario 5 XH: 226mm,
Waga Mario 5 XH:

126+5g (bez drukéw 3D),

167+5g (z drukami 3D i plastikowymi ostonami),
Grubos¢ goérnej ptyty: 2.5mm (T300 3K),
Grubos¢ srodkowej ptyty: 2.0mm (T300 3K),
Grubos$¢ dolnej ptyty: 2.5mm (T300 3K),
Grubos¢ ramion: 6mm (T300 3K),
Rozmiar $migiet: max 5.1 cala,
Rozstaw $rub montazowych silnika: 16-19mm,
Otwory montazowe FC / ESC / AlO: 30.5x30.5(M3),

Rama SpeedyBee Mario 5

Cena brutto
Cena netto

Dostepnos¢
Czas wysyiki

Producent

Otwory montazowe nadajnika wideo: 20x20(M2) / 25.5x25.5(M2),
Materiat kabinki na kamere: stop aluminium lotniczego,

Wysokos$¢ wewnatrz ramy: 23-31mm,

Przestrzen na montaz odbiornika: 25*%13*6mm,
Maksymalny rozmiar kondensatora: ®10mm*20mm,
Rozmiar modutu GPS: 18*18*7.

204,99 zt

166,66 zt

Aktualnie niedostepny
1-3dni

SpeedyBee

wygenerowano w programie shopGold


https://www.nobshop.pl/rama-speedybee-mario-5-p-4363.html

MARIO &

szzdyEzé
By Lema fpv

MARIO 3 DC MARIO 3 XH

(DJ1 O3 Propeller-free View) (Ideal with Gopro)

v
\9)/
»

b S

Wheelbase: 227mm Wheelbase: 226mm
Weight: 129 ng (3D Printed Parts Excluded) Weight 1 126 ng (3D Printed Parts Excluded)
170 i59 (3D Printed Parts and Injection 167159 (3D Printed Parts and Injection

-Molded Parts Included) -Molded Parts Included)

@ MARIO 5 DC and MARIO 5XH: Interchangeable parts for easy swapping.

wygenerowano w programie shopGold



Creating 3D Files ?
Adding GPS ?

Dual Antennas ?

DIY

Free Combination

MARIO 5 DC Lite Version

@ DIY your own 3D printed models

and colors as desired.

MARIO 5 DC
(Lite + Upgrade Kit /)

\ Simplify learning, save time,
and elevate aesthetics.

MARIO 5 DC
( Lite + Upgrade Kit A+ Upgrade Kit )

v Enhanced device protection
and improved aesthetics.

wygenerowano w programie shopGold



-

Top Plate Thickness:

Middle Plate Thickness:
Bottom Plate Thickness:
Arm Thickness:

Camera Mounting Screw:
3D Printed Parts:

Battery Anti-Slip Pad:
Motor Spring Hole Position:
Compatible Propeller Size:
Motor Mounting Hole Distance:
FC Mounting Hole:

VTX Mounting Hole:

Head Material:

Aluminum Column Material :
Internal Mounting Height:
Receiver Installation Space:
Suitable Capacitor Size:
GPS Installation Size:

2.5mm (T300 3K)

2.0mm (T300 3K)

2.5mm (T300 3K)

6mm (T300 3K)

7mm

Yellow TPU

Silicone 3mm

8 8mm

Max 5.1 Inch

16-19mm

30.5X30.5(M3)

20X20(M2) / 25.5X25.5(M2)
Aviation Aluminum Alloy
7075 D5*23mm/D46*22mm
23-3Imm

25*13*6mm

& 10mm*20mm

18*18*7

th
Alioy Head

ures a high-stren

ries feat!
The MARIO s€
aluminum aJlsyrI;i?tdr,a?WI
r I21Jilrr(1);13ressive visual experience:
offer @

Enhances HD VTX to minimize high

-frequency ' jello effect’ for a steadier image.

Recessed Gopro Mount,Provides

product edlires) ©

gth aviaticn
t the lens.

alower center of gravity compared to standard mounts.

wygenerowano w programie shopGold



@

Unique carb

on plate ar,
hances body stabil m su
commodates capa

! Pport structure'

sup .en-
tt_y, m}nlmlzes twisting and
catoranstallation. ' L

Prodetfeatira) g

Capacitor installation size: (& 10mm*20mm)
Supports dual-directional installation.

©

t Method

ut for easy adjust-
with integrate
tallation-

InpuU

ment O
socket and ant

Capacitor installation space allows
for neater DIY wiring.

wygenerowano w programie shopGold



Receijver
Installation Space

The rear bot,

e .
;t;m. Simply rémove the prot,
ottom for easy frequency bin

0m area j i
als dedicated for receiver ingta

ective cover gt the
ding,

Installation Space Dimensions:
25mm*13mm*émm)

Translucent Protective Cover: Simplifies
receiver binding and provides clear visibility of receiver lights.

e
jverse OpenSourc

3D Models

of 3D mo
ferences-

dels to suityOU!
\We encourage

ibute to MARIO model's

3D parts-

@ 0Ongoing design and open-source for diverse usage

wygenerowano w programie shopGold



Fr. ame PrOte =
Armor e

MAR|05'S protect

tior - the 0 tp! te S t e Fi While t| €rea
S otect. C |
4

enhances DJ| O
: g 3 heat disginat i
IMproving 03 yTx mo“ﬂgségit;(;ril,yslgﬂ|ﬁcantiy

iV i
€ armor congistg of two sec-

{  Enhance the aesthetics with RGB ambient lighting
while ensuring FC protection for a stylish appearance.

rotec-
oo molded motor Press
) . e miection-molde ‘10 ensuring
nghtwelg:;smrilinimize inertia while
tion footz trame protectio

motor an
Product ", a

y Lightweight protective footpads,
compatible with motors with hole spacing of 16-19mm

wygenerowano w programie shopGold



MARIO 5 Dc Lite

Package:

2N

TopPlate (1) Middle Plate (1) Bottom Plate (1) Supporting Board (2)

D46 M3*22mm D5 M3*23mm
Front Arm (2) BackArm (2) Aluminum Column (3)  Aluminum Column (6)

Receiver Protective
HeadL (1) HeadR (1) Motor Protective Pad (4) Cover (1)

v

Battery Anti-SlipPad (1)  Camera Silicone Mount (2)  M3*16 Screw (4) M3#25 Screw (4)

M1.6*8 Screw (4)  M2*4Screw (4)  M2*7 Screw (6) M3*6 Screw (14) M3%12 Screw (8)

wygenerowano w programie shopGold



MARIO 5 XH Lite

Package:

Top Plate (1) Middle Plate (1)

D46 M3*22mm D5 M3*23mm
Supporting Board (2)  Battery Anti-SlipPad (1)  Aluminum Column (3)  Aluminum Column (6)

Receiver Protective
HeadL (1) HeadR (1) Motor Protective Pad (4) Cover (1)

» s

M1.6%8Screw (4)  M2*4Screw (4)  M2*7 Screw (6) M3*6 Screw (14) M3#12 Screw (8)

~

M3*16 Screw (4) M3%*25 Screw (4) Camera Silicone Mount (2)

wygenerowano w programie shopGold



Produkt posiada dodatkowe opcje:

Wersja: DC Advanced , DC Lite , DC Pro , XH Advanced , XH Pro

wygenerowano w programie shopGold


http://www.tcpdf.org

